AR (O)
Area of Polygon (Il)

L
Matching :
OEEEA L (EJE+TF E)XZH+2
Area of rectangle \ / (Upper Base + Lower Base)x Height + 2
OOREICE £2-F S o BX®
Area of parallelogram Base x Height
Area of square / Side Length x Side Length
@ # 7 @ #% FEx &+ 2
Area of trapezium Base xHeight + 2
® = Ha E x B4
Area of triangle Length x Width
A R K

Find the areas of the figures :

3cm 3cm
§ 9cm i Sem
K 1 5rclm A
ﬁé§:12X1+(12+5)x4+2 ﬁjﬁ:15X9—(15—3—3)X(9—5)+2
— 46m2 =117cm?
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Find the area of the figures:

(:) (:) _ 120m

3cm
3cm Zmm
Smm
10mm
6cm
5mm
2mm
9cm N3
& & & &
Area = 3x31t6x9 Area = 10x12-5x(10-2)+2x2
=63cm? - 80mm?
@ @ 10cm
12m ZCmI
6cm
2cm 2cm 2cm
lﬁﬁ @ﬁ 10X2+(6—2)X2X3/

drea = (1245)x(8-2)+242x5  prea= 10x6-(6-2)x(10-2-2-2)

- 61m? - 44cm?

® ®

Tm

I
\l/ 8cm

g

13m

lcm 6cm lcm

& &  F&
Area = 8x1x2+(6+2)x(8-5)x2 Area = 13x7-(7-5)x(13-7)

=34cm? =79m?
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